TU LIRE
TU DIRE

JE LIRE

ON VENIR

ON VIVRE

ON AVOIR

ON BOIRE

ON TENIR

ON CROIRE
ON SAVOIR

TU SAVOIR

JE ROUGIR

JE METTRE

TU METTRE
ON OBEIR
VOUS TENIR
ELLES LIRE

JE ETUDIER
VOUS SAVOIR
JE CONNAITRE
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ON DIRE

TU VOIR

ON VOIR

ON LAVER

JE ETRE

TU VENIR

JE FINIR

JE LAVER

JE FERMER
JE SAVOIR
VOUS LIRE

TU OBEIR

ON PERDRE
ON PLAIRE

JE VOULOIR
ON ECRIRE
ELLES LAVER
VOUS ROUGIR
ELLES SAVOIR

NOUS RECEVOIR
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ON LIRE

JE DIRE

JE VOIR

ON PUNIR

JE AVOIR

JE JOUER

ON FAIRE

ON ETRE

ON DANSER
ON SAISIR

ON METTRE
ON DEVOIR
JE DEVOIR
ON COURIR
TU REMPLIR
ON VOULOIR
VOUS CROIRE
ON RECEVOIR
VOUS ECRIRE
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